Week 12
Thursday 11th June 2020
Year 5- Varied fluency
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Inverse Operations

Inverse Operations

10.4,131 + 2,144 = 6.275. Trve or false?
Complete the inverse operation below fo
check.

hig

1b.3.74 + 5232
Complele the i
check.

,978. True or false?
erse operation below fo

hig

2a. Use an inverse operation fo calculate

the missing numbers.
4 3 5 2

+
7 4 9 7

2b. Use an inverse operation o calculate
the missing numbers.

3a. Sal and Simon have a combined
score of 7,543 points. Sal scored 2,431
points. Use an inverse operation fo
calculate Simon's score.

heig

3b. Bryn and Belle have a combined
score of 5,286 points. Bryn scored 3,113
poins. Use an inverse operafion fo
calculate Belle's score.

heig

4a. Tick the calculations that are comect
and the inverse of each ofher.

A 3564+2431=5995

B. 3564-2431=5995

C. 5995-3564=2431

w

4b. Tick the calculations that are comect
and the inverse of each ofher.

A 4783+2251= 6989

B. 6989-4738=2251

C. 473842251 =

w

989
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Inverse Operations

Sa. 12,561 + 9.273 = 21,834, True of false?
Complete the inverse operation below fo
check.

2 1 8 3 4

5b.13,849 + 1,944 = 15,793 Trve or false?
Complee the inverse operation below fo
check.

15 7 9 3

¥

¥

4a. Use an inverse operation fo calculate
the missing numbers.

3 5 7 1 8

6b. Use an inverse operation fo calculate
the missing numbers.

47 3 2 7

¥

7a. Leo and Liza have a combined
score of 36,491 poinls. Leo scored 25,623
points. Use an inverse operation fo
calculate Liza's score.

7b. Mark and Martha have a combined
score of 28,562 points. Mark scored 9,243
poins. Use an inverse operafion fo
calculate Martha’s score.

%

8a. Tick the calculations that are comect
and the inverse of each ofher.

A 5364413747191

B 13747+19111-5364

C. 5364=13747-19111

D. 19.111-13747 5364

w

k the calculations fhat are comect
and the inverse of each ofher.

A 21919-34033=12114

21919 + 1211,

34033

C. 34033-21919=12114

D. 12114+21.919=34303





